
Stützfuß

M8x20 

9 Stk
M8x210 

9 Stk

M8 

9 Stk

Unterlegscheiben

Ø12 

9 Stk

SALVADOR Eckbank Montageanleitung

A B C D

C

C

Eckbank-Schenkel 1

Eckbank-

Schenkel 2

Fuß

1 Paar

M6x30 

8 Stk

7x60 

4 Stk

E F

1
1

3

2

3

1

G+H

Vorne

Vorne

Hinten

Hinten

G H

M8x35 

4 Stk

Unterlegscheiben

Ø8 

4 Stk



SALVADOR Eckbank Montageanleitung
A B

A

B



SALVADOR Eckbank Montageanleitung
D E F


